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26.The luxuries and conveniences of contemporary life prevent people from
developing into truly strong and independent individuals.

Write a response in which you discuss the extent to which you agree or disagree with
the statement and explain your reasoning for the position you take. In developing and
supporting your position, you should consider ways in which the statement might or
might not hold true and explain how these considerations shape your position.

59.Scientists and other researchers should focus their research on areas that are likely
to benefit the greatest number of people.

Write a response in which you discuss the extent to which you agree or disagree with
the recommendation and explain your reasoning for the position you take. In
developing and supporting your position, describe specific circumstances in which
adopting the recommendation would or would not be advantageous and explain how
these examples shape your position.

40.Claim: When planning courses, educators should take into account the interests
and suggestions of their students.

Reason: Students are more motivated to learn when they are interested in what they
are studying.

Write a response in which you discuss the extent to which you agree or disagree with
the claim and the reason on which that claim is based.

93.Unfortunately, in contemporary society, creating an appealing image has become
more important than the reality or truth behind that image.

Write a response in which you discuss the extent to which you agree or disagree with
the statement and explain your reasoning for the position you take. In developing and
supporting your position, you should consider ways in which the statement might or
might not hold true and explain how these considerations shape your position.

ISSUE 203 - "The best way to understand the character of a society is to examine the
character of the men and women that the society chooses as its heroes or its heroines.
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95.All parents should be required to volunteer time to their children's schools.

Write a response in which you discuss the extent to which you agree or disagree with
the claim. In developing and supporting your position, be sure to address the most
compelling reasons and/or examples that could be used to challenge your position.
97.Colleges and universities should require their students to spend at least one
semester studying in a foreign country.

Write a response in which you discuss the extent to which you agree or disagree with
the claim. In developing and supporting your position, be sure to address the most
compelling reasons and/or examples that could be used to challenge your position.

As we acquire more knowledge, things do not become morecomprehensible, but more
complex and mysterious.

Writea response in which you discuss the extent to which you agree or disagree
withthe statement and explain your reasoning for the position you take. Indeveloping
and supporting your position, you should consider ways in which thestatement might
or might not hold true and explain how these considerationsshape your position.

101.Although innovations such as video, computers, and the Internet seem to offer
schools improved methods for instructing students, these technologies all too often
distract from real learning.

Write a response in which you discuss the extent to which you agree or disagree with
the statement and explain your reasoning for the position you take. In developing and
supporting your position, you should consider ways in which the statement might or
might not hold true and explain how these considerations shape your position.
22.Claim: The best way to understand the character of a society is to examine the
character of the men and women that the society chooses as its heroes or its role
models.

Reason: Heroes and role models reveal a society's highest ideals.

Write a response in which you discuss the extent to which you agree or disagree with
the claim and the reason on which that claim is based.
43.The increasingly rapid pace of life today causes more problems than it solves.

Write a response in which you discuss the extent to which you agree or disagree with
the statement and explain your reasoning for the position you take. In developing and
supporting your position, you should consider ways in which the statement might or
might not hold true and explain how these considerations shape your position.

Argument :
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The following appeared in a memo from a vice president of Quiot Manufacturing.

"During the past year, Quiot Manufacturing had 30 percent more on-the-job accidents
than at the nearby Panoply Industries plant, where the work shifts are one hour shorter
than ours. Experts say that significant contributing factors m many on-the-job
accidents are fatigue and sleep deprivation among workers. Therefore, to reduce the
number of on-the-job accidents at Quiot and thereby increase productivity, we should
shorten each of our three work shifts by one hour so that employees will get adequate
amounts of sleep."

Write a response in which you examine the stated and/or unstated assumptions of the
argument. Be sure to explain how the argument depends on these assumptions and
what the implications are for the argument if the assumptions prove unwarranted.

When Stanley Park first opened, it was the largest, most heavily used public park in
town. It is still the largest park, but it is no longer heavily used. Video cameras
mounted in the park's parking lots last month revealed the park's drop in popularity:
the recordings showed an average of only 50 cars per day. In contrast, tiny Carlton
Park in the heart of the business district is visited by more than 150 people on a
typical weekday. An obvious difference is that Carlton Park, unlike Stanley Park,
provides ample seating. Thus, if Stanley Park is ever to be as popular with our citizens
as Carlton Park, the town will obviously need to provide more benches, thereby
converting some of the unused open areas into spaces suitable for socializing.

Write a response in which you examine the stated and/or unstated assumptions of the
argument. Be sure to explain how the argument depends on these assumptions and
what the implications are for the argument if the assumptions prove unwarranted.

The following is a letter to the editor of the #aymarsh Times.

"Traffic here in Waymarsh is becoming a problem. Although just three years ago a
state traffic survey showed that the typical driving commuter took 20 minutes to get to
work, the commute now takes closer to 40 minutes, according to the survey just
completed. Members of the town council already have suggested more road building
to address the problem, but as well as being expensive, the new construction will
surely disrupt some of our residential neighborhoods. It would be better to follow the
example of the nearby city of Garville. Last year Garville implemented a policy that
rewards people who share rides to work, giving them coupons for free gas. Pollution
levels in Garville have dropped since the policy was implemented, and people from
Garville tell me that commuting times have fallen considerably. There is no reason
why a policy like Garville's shouldn't work equally well in Waymarsh."

Write a response in which you discuss what specific evidence is needed to evaluate
the argument and explain how the evidence would weaken or strengthen the
argument.
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The following appeared in a memo from the vice president of a food distribution
company with food storage warehouses in several cities.

"Recently, we signed a contract with the Fly-Away Pest Control Company to provide
pest control services at our fast-food warehouse in Palm City, but last month we
discovered that over $20,000 worth of food there had been destroyed by pest damage.
Meanwhile, the Buzzoff Pest Control Company, which we have used for many years,
continued to service our warchouse in Wintervale, and last month only $10,000 worth
of the food stored there had been destroyed by pest damage. Even though the price
charged by Fly-Away is considerably lower, our best means of saving money is to
return to Buzzoff for all our pest control services."

Write a response in which you discuss what specific evidence is needed to evaluate
the argument and explain how the evidence would weaken or strengthen the
argument.

Argument: "Homes in the northeastern United States, where winters are typically

cold, have traditionally used oil as their major fuel for heating. Last year that region
experienced 90 days with below-average temperatures, and climate forecasters at
Waymarsh University predict that this weather pattern will continue for several more
years. Furthermore, many new homes have been built in this region during the past
year. Because of these developments, we predict an increased demand for heating oil
and recommend investment in Consolidated Industries, one of whose major business
operations is the retail sale of home heating oil."

The following appeared in a letter to the school board in the town of Centerville.

"All students should be required to take the driver's education course at Centerville
High School. In the past two years, several accidents in and around Centerville have
involved teenage drivers. Since a number of parents in Centerville have complained
that they are too busy to teach their teenagers to drive, some other instruction is
necessary to ensure that these teenagers are safe drivers. Although there are two
driving schools in Centerville, parents on a tight budget cannot afford to pay for
driving instruction. Therefore an effective and mandatory program sponsored by the
high school is the only solution to this serious problem."

Write a response in which you examine the stated and/or unstated assumptions of the
argument. Be sure to explain how the argument depends on these assumptions and
what the implications are for the argument if the assumptions prove unwarranted.

In an attempt to improve highway safety, Prunty County last year lowered its speed
limit from 55 to 45 miles per hour on all county highways. But this effort has failed:
the number of accidents has not decreased, and, based on reports by the highway
patrol, many drivers are exceeding the speed limit. Prunty County should instead
undertake the same kind of road improvement project that Butler County completed
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five years ago: increasing lane widths, resurfacing rough highways, and improving
visibility at dangerous intersections. Today, major Butler County roads still have a 55
mph speed limit, yet there were 25 percent fewer reported accidents in Butler County
this past year than there were five years ago.

Write a response in which you discuss what specific evidence is needed to evaluate
the argument and explain how the evidence would weaken or strengthen the
argument.

There is now evidence that the relaxed pace of life in smalltowns promotes better
health and greater longevity than does the hectic pace oflife in big cities. Businesses
in the small town of Leeville report fewer daysof sick leave taken by individual
workers than do businesses in the nearbylarge city of Masonton. Furthermore,
Leeville has only one physician for itsone thousand residents, but in Masonton the
proportion of physicians toresidents is five times as high. Finally, the average age of
Leeville residentsis significantly higher than that of Masonton residents. These
findings suggestthat people seeking longer and healthier lives should consider moving
to smallcommunities.

Writea response in which you examine the stated and/or unstated assumptions of
theargument. Be sure to explain how the argument depends on these assumptions
andwhat the implications are for the argument if the assumptions proveunwarranted.

The following appeared in a memo from the director of a large group of hospitals.

"In a controlled laboratory study of liquid hand soaps, a concentrated solution of extra
strength UltraClean hand soap produced a 40 percent greater reduction in harmful
bacteria than did the liquid hand soaps currently used in our hospitals. During our
recent test of regular-strength UltraClean with doctors, nurses, and visitors at our
hospital in Worktown, the hospital reported significantly fewer cases of patient
infection (a 20 percent reduction) than did any of the other hospitals in our group. The
explanation for the 20 percent reduction in patient infections is the use of UltraClean
soap."

Write a response in which you discuss one or more alternative explanations that could
rival the proposed explanation and explain how your explanation(s) can plausibly
account for the facts presented in the argument.

Nature's Way, a chain of stores selling health food and other health-related products, is
opening its next franchise in the town of Plainsville. The store should prove to be very
successful: Nature's Way franchises tend to be most profitable in areas where
residents lead healthy lives, and clearly Plainsville is such an area. Plainsville
merchants report that sales of running shoes and exercise clothing are at all-time highs.
The local health club has more members than ever, and the weight training and
aerobics classes are always full. Finally, Plainsville's schoolchildren represent a new
generation of potential customers: these schoolchildren are required to participate in a
fitness-for-life program, which emphasizes the benefits of regular exercise at an early
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age. [Write a response in which you examine the stated and/or unstated assumptions
of the argument. Be sure to explain how the argument depends on these assumptions
and what the implications are for the argument if the assumptions prove unwarranted. ]

The following was written by a group of developers in the city of Monroe.

"A jazz music club in Monroe would be a tremendously profitable enterprise. At
present, the nearest jazz club is over 60 miles away from Monroe; thus, our proposed
club, the C Note, would have the local market all to itself. In addition, there is ample
evidence of the popularity of jazz in Monroe: over 100,000 people attended Monroe's
jazz festival last summer, several well-known jazz musicians live in Monroe, and the
highest-rated radio program in Monroe is 'Jazz Nightly.' Finally, a nationwide study
indicates that the typical jazz fan spends close to $1,000 per year on jazz
entertainment. We therefore predict that the C Note cannot help but make money."

Write a response in which you discuss what questions would need to be answered in
order to decide whether the prediction and the argument on which it is based are
reasonable. Be sure to explain how the answers to these questions would help to
evaluate the prediction.
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